Parallel Tasks for Algebra

	1a. Write an equation with variables on both sides of the equation that will result in a whole number solution.  


	1b. Write an equation with variables on both sides of the equation that will result in a negative number solution.  



	2a. Write and solve a 2-step equation (variable on one side) with a fractional coefficient.  If your solution does not come to a whole number solution, change your equation so that it does.


	2b. Write and solve an equation that requires use of the Distributive Property with a fractional multiplier.  Try to use compatible numbers in order for the calculations to be more manageable.



	3a. Abby, Brian, and Charles have a sum of 12 coins.  Brian has twice as many coins as Abby.  Charles has two less than four times as Abby.  Create symbolic expressions, where x = number of Abby’s coins.  Write and solve an equation using your expressions to find the number of coins each student has.


	3b. Abby, Brian, and Charles have a sum of 12 coins.  Brian has twice as many coins as Abby.  Charles has two less than four times as Abby.  Create symbolic expressions, where x = number of Brian’s coins.  Write and solve an equation using your expressions to find the number of coins each student has.



	4a. Insert parentheses (or not) so that the expression results in each desired value below:

63 – 20 + 1 – 4 
→

=  38

63 – 20 + 1 – 4 
→

=  40


	4b. Insert parentheses (or not) so that the expression results in each desired value below:

25 + 4∙b – 3 + 6b 
→
=  10b + 13

25 + 4∙b – 3 + 6b
→
=  10b + 22

25 + 4∙b – 3 + 6b
→
=  -2b + 22



	5a. 1a. Determine if the table represents a linear relationship.  How do you know?

If it is linear write a rule for the table in 

y = mx + b form.

Input X

Output Y

0

5

1

11

2

17

4

29

6

41


	5b. Determine if the table represents a linear relationship.  How do you know?

If it is linear write a rule for the table in 

y = mx + b form.

Input X

Output Y

1

2

2

11

4

29

10

83



	6a.  Alicia has 40 tiles.  She wants to use all 40 tiles to create a figure in this pattern.  Can she create it with exactly 40 tiles?  If not, what is the greatest number of her tiles that she can use?
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	6b. Andrew has 400 tiles.  He wants to use all 400 tiles to create a figure in this pattern.  Can he create it with exactly 400 tiles?  If not, what is the greatest number of his tiles that he can use? In general how can you tell if an exact number tiles can be used to create this pattern?
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Open Questions for Algebra

	1.  Create and solve an equation with variables on both sides (don’t make it too challenging).  Now solve that equation again, but begin with a different first step.  Do you prefer beginning with a constant (non-variable) term or a variable term?  Explain your rationale.



	2. Your unit test is coming up.  Multiple-choice questions usually contain 3 wrong answers that are strategically developed from student’s common errors and one correct choice of course.  Go through the equation 8x – 2 = 6x – 6 four times.  [Think about how subtraction signs often lead to making mistakes].  Purposely make one common error the first three times when solving the equation, and then solve it correctly.  Circle your errors in your shown work.

Find the solution to the equation:  8x – 2 = 6x – 6

Your choices: 

A. ____

B. ____

C. ____

D. ____



	3.  Using one equation (in slope-intercept form), create two graphs, where the scale(s) on one/both of the x- and y-axes are different from the 2nd graph, resulting in one graph visually appearing to have a steeper slope than the other. Compare and contrast your two graphs.
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	4. Youssef came up with a linear equation.  He created a table of values and a graph that represent his equation.  A point on his graph is (2, 8).  What could Youssef’s equation be?  Once you have determined a possible equation complete the table of vales below with input/outputs that satisfy the equation.  Finally graph the equation below.  

x

y
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b. When you are finished think of several other equations that could be Youssef’s equation.  Record them below.  How do you know that they might be Youssef’s equation?



	5. Draw two graphs that visually seem to have the same slope, but actually don’t.  Show that they do not have the same slope by calculating the slope of each.
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	6.  Lindsay says that two lines that have opposite slopes are perpendicular and will make right angles.  Test Lindsay’s conjecture by graphing three different pairs of lines with opposite slopes.  Write back to Lindsay with your findings.
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